110 &#REFPHRERFR%T SIS

110# 4”2 8p EEREPIZF W

- kP AT PR E R TR Y PR
S BRI S P 20 ARG RS -

Z~AEE R R
T~ R
GDES TR L ¥ A ke Rl

|~ 2 xBHE- B B A Ayl B8 21 pAasEST AL A
HECEFR FLETFAR -

FgcH > o

2~

ha

3\ %,{ﬂ;:“u}iﬁﬁ_o

I TR F

(= D)TpF c/,EPARL 110# 1-12 7 > 438305 8 9 4 949 5 w335 5-10
I H =2 4 ﬁIEEI BELP T AP R SME PR -

(CHERTP2Z 3% N
HEPARLE 1]l &> A A FEHEAINER RATE s RKEH 2835 o
FREPAF O -FAGHA

AR

(l)iiﬁqk«fﬁ’fﬂ 2 ;EL
AP S8 - = f‘ ~ B

(DA I £ 702 IR L -HEE

=k
—t
&
ﬂ"\
RN
o
Gl
bl
;Y
H
%
=
'C
am
\
H
2
]



BBEFHEFT S LE2ARFHREFE LT LB XS PR FE o
S HF I REZA CRIREFLETIARAGRE A L2 A RFHEE =L

— % o

|

()% Gt (2 RERFECEHZ Lo EHER ] Ko
(Z)HZE BRI L2 REHRTEE =
5%%5§%%ﬁﬁ
S L ESY CERFRAYBECRAFREHRLIT I IR ESEY
4
3

I~ g °
NN BIEE
N 3 P 'EF'_ET . E‘%A

2i- o EHEE G EWL T

FRF T E MBO S F A R -

{_‘7““3 7}&_&7}:’5273&%;?75’11/ Elf”TPao



W1 FreEd Ptz s

7P ig

SRk N oA ¥R

1.MBOS ¥ st t & P, L0 | MBO i sp 7 shgt D i 10096(10 A1)~ 95.0-99. 996(8 &) ~ 90. 0-94.996(5 &) ~ # 47
(d 0% 218 4 #K) EA o

(D E g~ To@* p !

L H e Tiar opo#kc — gl"?{%ﬁ =
>fw 20% +104 +H&
2.2 TR p ok 10 & >R 21-40% +84 +45
(d 2 2 o ¥ A2 80 >R 41-60% +64 + 35
>+ 61-80% + 45 + 24
>R+ 81-100% +24 +1x
(Dbt — 2Pt 7ol mdelh > HFHE 300,54 >33 AP OA L 2 o
(3)r2110.04. 01fc* z- = N2> kAL i3t ® -
I P % ¥
E VAR 100% (F A fh o Bt FA) LA
HrfirFlorren s FRAMNAPFFREL R L EM% EoE 0w 5 A
3.EE#pis SRR T Sg w5 A
” 20 4 (s 2 48 ¥ H
(d FiFRey s L)
Hied FRSPMAPBNE - Ba 8 S Fxg o ma -10 4

WME T RSB F A BM0AEERM 2B oA BT IBE A o
MEZE g p e fEE T o PR TR B2 Y H g F e o

1.““*s\@w+éff1w - 5 -
10~ | (DFEF 2#BAFTH @gp%}a?mf;er%;}ﬁ%@,ar%ﬁ;w REEP A TEA(F %24~ &0
A:\)o




(DR G i L FHOT ] RER T FIERE GG 420 - & OA) -

CEETES 2T SRR T T RESE ST S0 S S SRy UINC R
AN | A I

()% b BECRBTIA S P EEHE(F %240 & 04) -

(B) W *cip A T2 FLE TH WA TE LRLF(F 24 m0A) -

2. ﬂif']f}}4 Fﬁ#iiﬁifﬁﬁ - (30 P A T W = | I

T TR TE T
(DF i s sl 372 (F -2 d A ~ & 04)
(2)° % LALRWEP o 3 50 2de s AF 3 IR S HRG 5 14 & 08)

5. F & MR kP e | B zmERLTL S dE T 25
(d BT At B A ) FEHLTREA /B AL F 2 S 1A R OA)
(D3 5aF BECh BB E?2 (G4 1A & 0A)
(5)F 2413 M PEBHR 2(F 434 2 04)
2RI FRX 2 > PR AFIPHE 454 > F T R ided 04 50
6. $3 fair & 28 £ i 2 4]
AT EBHETL (404 | k@ Ey

(4 K& 23 =pRETEAL)




W22 KEHFL PRk e

2%
S RAE X fie & F AR
iy S
VAR S 100% (7oA fs o kot F ) FE10 A
L% 4 s \ HeipROFrrRe S 3 RMARAFFREL R AL E7% SAE RA 254
(4 il i B A ) el Bryamiegy
Hoegg FRSMArisME - B4 80 fgx Fy T RA DA
ME A SEF 104 M0 FERYI2B Y b A TSI A o
MEZHE g p e Pl E T PR B2 Y H g e o
(D& HE 3w~ T pic:
. =
R T T
> 20% +104 +54
2.8 2> Tk %)"9 # 5 >Rw 21-40% +84 +4%
(4 ~ 2 w18 0 d) e 41-60% +64 +34
>few 61-80% + 45 +24
P 81-100% +24 + 14
(it — W2 7o mdelsh > KEE 400,54 > Fc2 2FPO0A 52 o
(3)74110. 04, 01fc* 2.2 2% kML B R -
Fra e 104
3474 L0 & FAEXA 20 2 ak; 2 =
(d ST ESTA) 100% 10 | 95%-100%r2— | 10 | 100% 10

97%-100%r4 ™

88%-95% 14

90%-100%r2

95%-97% 14 *

80%-88% 14

80%-90% 2




92%-95% 14 T 4 | 80%-85%14 T 4 | 60%-80%"
90%-92% 14 2 | 60%-80%r 2 | 90%-60%" 2

£ 90% 0 | &:3F 60% 0 | i 50%

RERTAR L4
PER LA g F
< F ) Rl o W -4

100% 10 | 5% 10 | 2% = 10

96%-100%r+~ | 8 |5%-8%1 T 8 | 2%-5%r1 8

94%-96% 4 T 7 | 8%10% 7 | 5%-8% ™ 6

90%-94% 4 = 6 | 10%-12%r2 5 | 8%10%r 4

80%-90%2 3 | 12%15%r = 3 | 10%( 7z )t 0

* £ 80% 0 | 15%Cz )ret 0

K
lfﬁﬁaﬁéﬁﬁiﬁ?ﬁ
L Lo («F30)-
2. M G TR A4 TIFF R TREETR A

Wil B & 110 22 L REEHUL » 7 g R

(1) 5T ir’ﬂﬁ,‘é,éi%ﬁ&% FH20A 0 BB kirik L ihgol bl B EA

(2) TR I F B F 104 » B Joorizt bl s o

(3>/:‘<‘ EL%%‘J-%J.&ELA’\ : ®+®'r’¥ /l ’:Li—ﬁﬁ A

(DF =FAzmr e 0y Bl B (504 ) ) @ L iEshlichy & REd A 2R -

AE2EL P EEAA KA - , ,

bl g FAFEE L 30 A O sirT a8 5= ’L’r‘tg_%”?/ (L SARCE S IR

(d A5 Eama ) @ i 9T i’ﬂ? L CRIF= TR E IR/ kT T R A
OF & B4 e S i

OF Gl & ANUIE Sl & g TS “T?IEHL EooE B ERE P AT REFant g e g
b‘T/”\&P\ ) _’%ﬁ ]:_’%ﬁﬁim?(ﬁﬁﬂ’# F ° f LL ]K%M’T}i -’%ﬁ}xfb 4(\’:‘—7-47\&9 Zv'ljjl‘; v fiﬁﬁ;]/ﬁ
B 8 e A o




AP LA EE fie &
fo &8s B B B AL AT G SR K F AL 5I(5 ) ’ g:\
FrA 3 Z 100% 8~
(d &3 Fri=s) Frd e F(8 &) 80% 11 T » o diEan — & K& S
50%-89% 2 A
50% 2 0~
%3 20% A
: 21%-40% 5 A
T 33 & 7/0\
RGDEFTA) 60 =
61%-80% 0~
6. ¥t ax & M Eax 2 4
ATCEE CRAIIHEITL 104 | KBy
(d REZ2 3 FRIREFTES)




